BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

BIDDER'S NAME

1) R & B Group, Inc.

LJA ENGINEERING, INC. S. YOUNG FEBRUARY 1, 2024 0176-0180 (9.2)

**FEBRUARY 1, 2024** 

TOTAL BID AMOUNT

PALMER PLANTATION MUNICIPAL UTILITY DISTRICT NO. 2, AND FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 49 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS

TOTAL AMOUNT BID INCLUDING ALTERNATE BID ITEMS

\$2,803,584.00

CONSTRUCTION OF THE DIGESTER REPLACEMENT & MECHANICAL FINE SCREEN ADDITION FOR PALMER PLANTATION MUNICIPAL UTILITY DISTRICT NO. 1,

\$2,908,584.00 \*

CALENDAR DAYS - 270/300



lot Will

2/5/24

I, CLAYON WEISHUHN, P.E., hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE DIGESTER REPLACEMENT & MECHANICAL FINE SCREEN ADDITION FOR PALMER PLANTATION MUNICIPAL UTILITY DISTRICT NO. 1, PALMER PLANTATION MUNICIPAL UTILITY DISTRICT NO. 2, AND FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 49 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS FEBRUARY 1, 2024 LJA ENGINEERING, INC. S. YOUNG FEBRUARY 1, 2024 0176-0180 (9.2)

1) R & B Group, Inc.

			1) R & B Group, Inc.	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
BASE BID ITEMS				
<ol> <li>SITE WORK INCLUDING BUT NOT LIMITED TO SITE GRADING AND SEEDING FOR ALL DISTURBED AREAS, AND ALL OTHER REQUIRED APPURTENANCES AS SHOWN ON PLANS, COMPLETE IN PLACE</li> </ol>	R LS	1	\$120,000.00	\$120,000.00
<ol><li>REMOVE AND PROPERLY DISPOSE OF EXIST DIGESTER BLOWER PAD AND EQUIPMENT, COMPLETE IN PLACE</li></ol>	LS	1	\$10,000.00	\$10,000.00
<ol><li>REMOVE AND PROPERLY DISPOSE OF EXISTING DIGESTER TANK, COMPLETE IN PLACE</li></ol>	EA	2	\$25,000.00	\$50,000.00
<ol> <li>REMOVE AND PROPERLY DISPOSE OF EXISTING CONCRETE PAVEMENT, COMPLETE IN PLACE</li> </ol>	SY	100	\$20.00	\$2,000.00
<ol><li>REMOVE AND PROPERLY DISPOSE OF EXISTING ABOVE GROUND PIPING AND PIPING SUPPORTS AS SHOWN ON PLANS, COMPLETE IN PLACE</li></ol>	LS	1	\$5,000.00	\$5,000.00
<ol><li>REMOVE AND PROPERLY DISPOSE OF EXISTING BELOW GROUND PIPING AS SHOWN ON PLANS, COMPLETE IN PLACE</li></ol>	LS	1	\$10,000.00	\$10,000.00
7. 6" REINFORCED CONCRETE PAVING WITH 8" LIME OR CEMENT STABILIZED SUBGRADE EXTENDING 2" OUTSITE EDGE OF PAVING, COMPLETE IN PLACE	SY	150	\$100.00	\$15,000.00
8. PROPOSED 6-INCH DI FORCEMAIN, INCLUDING FITTINGS AND CONNECTION TO EXISTING PIPE, COMPLETE IN PLACE	LF	60	\$270.00	\$16,200.00
<ol><li>PROPOSED 12-INCH DI FORCEMAIN, INCLUDING FITTINGS AND CONNECTION TO EXISTING PIPE, COMPLETE IN PLACE</li></ol>	O LF	60	\$450.00	\$27,000.00
10. PROPOSED 6-INCH PVC PLANT GRAVITY DRAIN LINE, INCLUDING FITTINGS AND CONNECTIONS TO EXISTING AND PROPOSED MANHOLES, COMPLETE IN PLACE	LF	151	\$70.00	\$10,570.00
11. PROP SANITARY MANHOLE INCLUDING PIPING CONNECTION, COMPLETE IN PLACE	EA	2	\$10,000.00	\$20,000.00
12. PROPOSED DUMPSTER PAD W / 4-INCH DRAIN LINE, INCLUDING GRATE, AND DRAIN LINE TIE INTO EXISTING PLANT DRAIN LINE, COMPLETE IN PLACE	LS	1	\$2,000.00	\$2,000.00
13. 8" PIPE BOLLARDS, COMPLETE IN PLACE	EA	3	\$500.00	\$1,500.00
14. PROPOSED ELEVATED HEADWORKS STRUCTURE, INCLUDING DRILLED SHAFT FOUNDATION, STRUCTURE, MANUAL BARSCREEN BYPASS, GATES, GRATING, HANDRAIL, STAIRS, AND ALL REQUIRED APPURTENANCES AS SHOWN ON PLACOMPLETE IN PLACE		1	\$520,000.00	\$520,000.00
15. PROVIDE AND INSTALL NEW MULTI RAKE BAR SCREEN SIZED FOR 0.6MGD ADF AND 2.4 MGD PDF, INCLUDING SCREW WASH PRESS AND STAINLESS STEEL DISCHARGE CHUTE, COMPLETE IN PLACE	LS	1	\$300,000.00	\$300,000.00
16. PROPOSED TWO CONCRETE DIGESTERS, INCLUDING FOUNDATION, STRUCTU EQUIPMENT, WALKWAYS, HANDRAILS, DECANT AND LINE WITH DECANT DRAIN LINE CONNECTION TO EXISTING PLANT DRAIN LINE FOR BOTH DIGESTERS, SLUDGE LINE AND CONNECTION TO EXISTING SLUDGE LINE, AIR PIPING AND CONNECTION TO EXISTING IN PIPING, COARSE BUBBLE DIFFUSERS WITH 2-IN DROPS, AND ALL REQUIRED APPURTENANCES, AS SHOWN ON PLANS, COMPLETE IN PLACE	1	1	\$1,560,000.00	\$1,560,000.00
17. EXISTING INFLUENT / HEADWORKS MODIFICATIONS, FOR DISCHARGE FROM PROPOSED HEADWORKS, COMPLETE IN PLACE	LS	1	\$20,000.00	\$20,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE DIGESTER REPLACEMENT & MECHANICAL FINE SCREEN ADDITION FOR PALMER PLANTATION MUNICIPAL UTILITY DISTRICT NO. 1, PALMER PLANTATION MUNICIPAL UTILITY DISTRICT NO. 2, AND FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 49 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS FEBRUARY 1, 2024

LJA ENGINEERING, INC. S. YOUNG FEBRUARY 1, 2024
0176-0180 (9.2)

1) R & B Group, Inc.

				1711 0 0 0 0	p, 1110.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
18.	EXTENSTION OF EXISTING NON-POTABLE WATER LINE FROM EXISTING HEAD WORKS TO PROPOSED HEAD WORKS, INCLUDING CONNECTION TO PROPOSED SCREEN, INCLUDING NEW PIPING AND ALL APPURTENANCES, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00
19.	PROVIDE AND INSTALL 30A BREAKER IN EXISTING MCC AND DUCT BANK WITH WIRE AND CONDUIT FROM MCC TO HEADWORKS DISCONNECT. COMPLETE IN PLACE	LS	1	\$31,000.00	\$31,000.00
20.	PROVIDE AND INSTALL NEW HEADWORKS DISCONNECT, HEADWORKS CONTROL PANEL, STANCHION LIGHT, PHOTO CONTROL AND OUTLET AND ALL ASSOCIATED CABLE AND CONDUIT. COMPLETE IN PLACE	LS	1	\$25,000.00	\$25,000.00
21.	PAINTING OF ALL PROPOSED ABOVE GROUND DI PIPING, COMPLETE IN PLACE	LS	1	\$20,000.00	\$20,000.00
22.	TRENCH SAFETY SYSTEM, COMPLETE IN PLACE	LF	114	\$1.00	\$114.00
23	SAWCUT, REMOVE AND PROPERLY DISPOSE OF CONCRETE AS NEEDED FOR DUCT BANK INSTALLATION, COMPLETE IN PLACE	LS	1	\$8,000.00	\$8,000.00
SUBT	OTAL BASE BID ITEMS				\$2,774,384.00
MISC	ELLANEOUS ITEMS				
1.	STORM WATER POLLUTION PREVENTION PLAN, INCLUDING TRUCK WASHOUT AREA, FILTER FABRIC FENCE, INLET PROTECTION BARRIERS, AS SHOWN ON PLANS, INCLUDING ADMINISTRATION, INSTALLATION, MAINTENANCE, AND REMOVAL AS REQUIRED BY THE PLANS AND AS DIRECTED BY THE ENGINEER, TO BE MAINTAINED UNTIL CONTRACTOR NOTICE OF TERMINATION IS SUBMITTED, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00
2	CONTROL OF GROUNDWATER (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00
3	CONTROL OF SURFACE WATER (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00
4	FILTER FABRIC FENCE (SILT BARRIER FENCING), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	120	\$10.00	\$1,200.00
5	EXTRA CEMENT STABILIZED SAND, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	20	\$50.00	\$1,000.00
6	EXTRA 4,000 PSI CONCRETE WITH REINFORCING STEEL, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	СҮ	25	\$500.00	\$12,500.00
7	EXTRA HYDRO-MULCH SEEDING OF PROJECT SITE, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$3,000.00	\$3,000.00
8	EXTRA STRUCTURAL FILL, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	CY	20	\$50.00	\$1,000.00
9	DISPOSAL OF SOLIDS/GRIT FROM EXISTING BASINS TO BE REMOVED UNDER THE DISTRICTS DISPOSAL CONTRACT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	75	\$100.00	\$7,500.00
SUBT	OTAL MISCELLANEOUS ITEMS				\$29,200.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE DIGESTER REPLACEMENT & MECHANICAL FINE SCREEN ADDITION FOR PALMER PLANTATION MUNICIPAL UTILITY DISTRICT NO. 1, PALMER PLANTATION MUNICIPAL UTILITY DISTRICT NO. 2, AND FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 49 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS FEBRUARY 1, 2024 LJA ENGINEERING, INC. S. YOUNG FEBRUARY 1, 2024 0176-0180 (9.2)

1) R & B Group, Inc.

ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
ALTERNATE BID ITEMS				
<ol> <li>6" REINFORCED CONCRETE PAVING WITH 8" LIME OR CEMENT STABILIZED SUBGRADE EXTENDING 2" OUTSITE EDGE OF PAVING, COMPLETE IN PLACE, IN LIEU OF BASE BID ITEM NO. 7</li> </ol>	SY	1200	\$100.00	\$120,000.00
SUBTOTAL ALTERNATE BID ITEMS				\$120,000.00
BID SUMMARY				
SUBTOTAL BASE BID ITEMS				\$2,774,384.00
SUBTOTAL MISCELLANEOUS ITEMS				\$29,200.00
TOTAL AMOUNT BID				\$2,803,584.00
ALTERNATE BID ITEMS				
TOTAL AMOUNT BID				\$2,803,584.00
DEDUCT BASE BID ITEM NO. 7				(\$15,000.00)
SUBTOTAL ALTERNATE BID ITEMS				\$120,000.00
TOTAL AMOUNT BID INCLUDING ALTERNATE BID ITEMS				\$2,908,584.00 *